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QUESTION 1

A Router transformation has the following group filter conditions:

Group A: InputValue = 2

Group B: InputValue > 1

Default group

The InputValue Is an integer port. Identify which of the following statements is correct. (Choose one)
A. If InputValue = 2, the output will be routed to Group A only

B. If InputValue = 2, the output will be routed to both groups A and B

C. If InputValue = 2, the router will fail, since rows cannot be routed to multiple groups

D. Any positive number values other than 1 or 2 will be routed to the Default group

Correct Answer: B

QUESTION 2

In the Expression transformation graphic below, what is the value of the PREVIOUS_STATE port for row 2, given that
the value for the STATE port was \WCA\\' for row 1?

Ldit Trans!ormations x5
Tearaformition  Ports |nm|muﬂrmi
Select tranformation: |15 xp_COUNT_CUST_STATES =
Trarefcematicn type: [Expression (Reusabh) O fRe + 4

Pail Namao | v E epiestaon -

= TATE der b FIF T |2l
B STATE_COUNTER fge 10 7 | | | [FIPREVOUS_STATE < STATE, STATE_COUNTER + 1,11 3§
B FREVIDUS_STATE g 2 I [ |7 [STATE
£ S TATE_COUNTER_OUT rizgee | [ |STATE_COUNTER

A. STATE

B. WCA\'

C. NULL

D. Value of the PREVIOUS_STATE port is based upon its declared default value

Correct Answer: B

QUESTION 3
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Of the statements below, which best describes the underlying process taken when a user connects to a PowerCenter
Repository Service for the first time? For the puposes of this question, the PowerCenter Developer is the only
PowerCenter client application running, there are 2 nodes in the domain, node 1 is a gateway node and node 2 is a
worker node. The PowerCenter Repository Service is running on the worker node.

A. The user connects directly and immediately to the Repository Service

B. The user connects to the service manager of the gateway node, and after authentication and authorization, is re-
Assigned to the Repository Service

C. The user connects to the service manager of the worker node that is running the Repository Service, is then
authenticated, authorized, and connected to the PowerCenter Repository Service

D. The user first connects to the PowerCenter Integration Service and then after authentication and authorization, is
connected to the PowerCenter Repository Service

Correct Answer: B

QUESTION 4

Transformation: Referring to Active and Passive characteristics - Select the statement which is correct and true.
A. If a transformation\\'s Active property is cleared or not enabled, the transformation becomes passive

B. A transformation is active if it does not change the number of rows in the pipeline

C. Transformations can be active and passive at the same time

D. A passive transformation will not change the number of rows in the pipeline

Correct Answer: D

QUESTION 5

When would a Lookup transformation be classified as active?

A. When the setting for lookup policy on multiple match is Use Any Value
B. A lookup cannot be an active transformation

C. When the lookup is configured to return multiple rows

D. A lookup is always active

Correct Answer: C
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